OFIER SMETHH., (1'23"45=1% 23 45)
O (#) [T REHFECEHE

54 100m EAARL— 100m Bk
1 & T =B 148729 1 &M@ B AMEH 57709 (3 RRSEF

2 B #® BB 155758 ) ME &E Efit 5807 &) 0 &%SOm Egi Al
3 /M B FEE 2'03706 100m #HikE 1 A = E 2660
6% 50m B 1OEE EE BEP 117732 > mm m EA 2770
1 #K E£F FKE 39”90 2 #HEF EE BED 126769 3 E+E B OEH 28"53
3 BAULY HiR 41"64 1 KK KBk BEH 119765 1 E+E = E# 102749
6% 50m EHikE 2 BiE £3 AED 128755 100m Tz
2 M mE ER 5935 1| ME Mx At 10814 TR
6% 50m FEixKE 2 NP EX BED 112745 1 WA s E# 22757
1 IMNER R RiR 50”55 3 B dz HAEH 121786 2 ¥ % E# 231720
2 MT OEB RE 55769 100m BAARL— S e
3 il XEOERR 56”90 1 PR &E BafE4d 108763 1 EHEH 153”35 (&)
64 50m \BTSA 2 #B xR AES 111764 TR
1 KK EXE RiR 49"45 3 £H BZE AED 126702 1 Ef#=h 210”75
2 LE# & &R 58”00 200m 2Y—yLr—
64 100m BHH 1 BEDRFERA 1'50"77 (¥7)
1 &k MEZE k2 137766 2 BEFERB 2'05"83 E*ﬁﬁ?
64 100m FikE 200m ARL—YL— 1B R4 TR 84 L
1 EaBhhA BB 159750 1 EERRA 2'06"40 Som BS54
64 100m EAARL— 2 BHEHERB 220704 1 B8 =B EH 33"12 &)
1 MMl XK= OEIE  1'44"88 100m /N2 T54
oSyl o | me AR ER 6060
500m 7'):';[/— [ &%50 . E;EE; A4 L,
1 HRINER 2'45"22 1 0 ,@'; Eé’q] 3931 —HRBF
2 EENER 2'53"22 ) @ ME BES 3318 [ 4 ] Py
3 BBINER 2'55"83 3 ME = EJ:‘_%_EP 35757 50m H EEIﬁZ‘ i
200m ARL—YL— 50m ik 1 /B3 R EIJ%?K\@ 26”53
1 HR/DMER 3'05"46 1 HTEMLS MER 40706 2 FIJ‘.I_‘ZS _1ﬂ1 Ef%?kfé 26"61
2 RE/NER 3"17"71 ) wE EHE Elléqﬂ 43"71 3 TE (E% E%ﬂ(\é 28”17
3 BRR/NER 3'22"93 100m B Eéﬁ? 50m EikE

PEBF 2 B MW AT 12352 s WY W) R
50m NZ2T5A

[ K4 FJTE; A4 L . 100m &HikE o 1N B AfkE 28725
50m BB 1 =BEH OME BAEF 131720 ) WA M AEKE 28753
1 &8 BR AEHF 26759 () 100m FikE 3 mE == EU%JK‘E 29”81
2 B Wz BED 30721 1 fTEP S5 BAEHR 127776 "100:1 ﬁk;lﬁ;—
3 i OEE BED 32766 2 RE BEE HEHD 13376 | NE B BEKE 106773
50m EikE 100m fEAARL— ”
1 =k RE AESR 34740 1 0 #&F&x @EER 117765
50m FEkE 200m ZY—yL—
1 KK KB HBE$ 36798 1 BERER 2'17"53
2 BE £ gEd 41722 200m ARL—1L—
50m NZT5A 1 BERER 2'29"87

1 N EX BEF 32'72
2 £H BE BAE4 40761

: == U rsUsrh 2017814 O




